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1. (10 points) The Coca-Cola bottling company has developed a new machine that they claim is much more 

consistent when it fills cans of Coke. The standard deviation for the amount of Coke filled in their cans by their 

older machines is estimated to be about 0.15 ounces. To determine if this new machine is better, the new 

machine was used to fill 100 cans of Coke. The standard deviation of the amount of Coke in the cans from this 

sample is 0.12 ounces. Use a 0.05 significance level to test the claim that the new machine is more consistent 

than the old machine when it fills cans of Coke.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Extra Credit 

 

1. (1, 2, 2 points) Suppose you are performing the following hypothesis test:  

:0H    18=  

:1H    18  

You take a sample of size 75, and calculate a sample standard deviation of 16.7.  

a) Calculate the test statistic 

 

 

 

 

 

 

b) Find the P-value of the test statistic 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

c) In this situation would you reject 0H ?  Why or why not? 

 

 

 

 

 

 

2. (3 points) What is the meaning of the significance level when performing a hypothesis test at the 0.07 

significance level? 

 

 

 

 

 

 

 

 

 

3. (2 points) Describe what a type II error is. 


